Study Question 2  Econ 431

   
US Steel acquired about 80% of steel capacity in the US in the early 1990s.  A few years later, US Steel had a 50 percent market share in the domestic market but it had 100 percent of US steel exports (which were small part of foreign consumption).   The Department of Justice sued US Steel for illegal monopolization.
     The Court viewed the decline in share as an indicator of USS's absence of market power.  
In addition, the dominance in exports indicated to the Court that US Steel likely had cost efficiencies from their consolidations of industry capacity.  
Finally, the Court noted that there was testimony as to US Steel’s attempts to elicit cooperation with its competitors in pricing and output decisions.  The Court viewed this as inconsistent with a monopoly.
    Evaluate whether the facts emphasized by the Court are indicative of the absence or presence of market power. 

